@ x+1

@ x-1

X

@ x3—x

® x*






3. x-6a 4 82 A4EASRY (T, 424 WSel A A5-23] ol

© ® © 0 6
=t e e w
[\
|
[\
=
|
N/
=
+
K



4. 3x*—x?2-2E QlE3| 5}t

@ (3x*-2) (x+1)(x-1) @ (3x2+2)(x-1)(x-1)
® (3x*+2)(x+1)(x+1) @ (3x2+3) (x+1)(x-1)

® (32 +2) (x+1)(x-1)



B -8x- 128 A5E5E (x-3) |olt} o] m, ogte]

o o)
Ao A 27

D (x+2)? @ (x-2) ® (x+1)?
@ (x-3)2 ® (x+3)2



Sx-12
g3} o7} vh2 7

X3 -2x2+5x-3

T ol .
wE M_L
iy oy
o} 2%
op I T
T B

S

1

x-1, 1A

x—1, 4™ 7]
Cx%—x—4, YA

Da% - x4 4, WA
Dx?—x 44, YA

® %:

4

@ &

1

A

1

=
=K

@
®

x—1

==y
X



O] 2% + 2+ x+ 18 20— 1 2 U 53 Uy E &A=
uaet 222

@ 24+x+1,1 @ x2+x+1,2

® 2x*+2x+2, 1 @ 2x2 +2x+2, 2

® 4x® +4x+4, 4



10002

A - %)

2522 — 2482 ©°

@ 62500 @ 1000 3 500
1

@ 250 G =



9. (1252 -752) + {5+ (30 - 50) + (—4)} 2] 22

O 75 @ 125 @ 900 @ 1000 ® 1225



10. 2012 = k2 & 1|, 2013 x 2011 k2 YERH?

O kK+k @ k-1 ® kK+k+1

@ K2-k+1 ® K-k



11. a?b3ct, ab?cte? o] H U545 FolH?

@D ab?c? @ ab*c* @ ab3c*

@ a?p3ct ® ab’c*ed



12, F oA 2 +ax-2,x2 +3x+ b9 g7t x -1 o, F A4
a,b® & a+bo 27

@ -3 @ -1 @0 @1 ® 3



13. x*+y2 4+ 2xy—x—yS AFES) 5FH?

O (x-y)(x+y+1) @ (x+y)(x-y-1)
® (x—y)(x-y-1) @ (x+y)(x+y-1)

® (x+y)(x+y+1)



14. o2 = % - b%c—ab® + a?c 9] A5 AL

@ a-b+c @ c—a ® b+c

@ a-b ® c-b+a



15. =5 o
22
® x-1

@ o, teht 2157k obd

@ x+1 ® x+2



16. (a-b+c)(a+b-c)E AN A2

@ a4 b%+ 2 - 2bc @ a?-b2%+ 2% -2bc
@ a?-b? -2+ 2c @ a?+b% - % - 2bc

® a? + b% + %+ 2bc



17.

43 +d= (2 +x+2)( P +ax+b) L W, A ab
Ssteler.

D
=%

_c_)/]

oL
=]

tlo



18.

X =2x—y* + 2y E A3l SFAEY (x +ay)(x - by +¢) 7F AL
S, a4 b+ c o g Fotolet.

D S
=%



19. 3 -4x2+x+62 A5EoHSHA (x+a)(x+b)(x+c) Ot a? + b2 +c2
o k& Fatole

D
=%



D a-b

@ a+b+c

3(b—c)+b3(c—a)+c3(a-b) Q] 157} o

@ b-c

® a-b+c

@ c—a

!

A

©
—

?



5t a2 + b2+ 2 =ab+bc+ca

ol dola, b, coll X



22. oS A4S <
cxy +dy?) 4

D L
-

oS xt - 307y + 4yt = (2% + axy + by?)(x® +
A, a+b+c+d 2 FES Aot (a,b,c,d= 4F)



23. 24+ax-92 2 +bx+c 9 T2 2x2-4x-6, H AT B3 —x2-9x+9
olth. a-b+ 9 & otz (&, a, b, cE F50lth)

D L
-






a? +b* 4 ¢ 2(1 1 1)0
D e e T B 1o
gy s B d Gl o] ghe

25. a+b+c=0, abc+ 0L o, b
a

Tatelat,

D R
=%



